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PART - II (¥TT - II)
SCHOLASTIC APTITUDE TEST

Aferep emar qeqor

Questions : 1 to 100

1.

25 g of water contain -

(1) 12 x 10?® atom of Hydrogen

and 6 x 10? atom of oxygen

(2) 5 x 10** atoms of Hydrogen

and 2.5 x 10?* atoms of oxygen

(3) 2.72 x 10*® atom of Hydrogen
and 8.372 x 10?® atoms of

oxygen

(4) 16.722 x 107
Hydrogen and 8.362 x 1072

atoms of

atoms of oxygen

Which of the following contain five

molecule of water of crystallization ?
(1) Blue Vitriol

(2) White Vitriol

(3) Epsom Salt

(4) Green Vitriol
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(1) 12 x 10% TWA] EEGRH & 9
6 x 10% qTHTT SRS %

2) 5 x 10* U EEgSH % 4
2.5 x 10** qTAIY] SIS &

(3) 2.72 x 10% YA BB & d
8.372 x 10%* YA SfeFioN &

(4) 16.722 x 10% U EEZSH &
9 8.362 x 10% TTAIY ST

&
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3. Digestive fluids in stomach has

approximate pH of -

1) 0 2) 2

3) 4 (4) 6

When water gas mixed with half
its volume of hydrogen and the
mixture is compressed to 300 atm.
pressure and passed over ZnO-
Cr,O4 catalyst a colourless liquid
is obtained which is wused as

solvent for paints & Varnishes.

The liquid will be -
(1) Methanol

(2) Ethanol

(3) Ether

(4) Acetone

Which of the following

arrangement represent increasing

oxidation number of central atom
(Mn,Cr,CI) ?

(1) MnO;,CrO? ,CiO;,CrO;

(2) ClOo;,CrOy ,MnO;,CrO;

(8) Cro,,Clo;,CrO ,MnO,

(4) CroO; ,MnO,,CrO;,ClO;

NTSE(Level-1)(P-IT)Exam. Nov. — 2018

(4)

3. I & UEH W B pH AE T

B B -
1) 0 @) 2
(3) 4 4) 6

W9 aeX 9 #® IGd AN ET B
T ERENH & a1 e e @

300 argaUsHid & W ZnO-Cr,0,
RE F HW G O I & O Th

TRH T o & 2 S 4 SR’
aNy & fou faamEs & =9 F uEe
2l B, 98 TS B -

(1) A=t
(2) A
(3) 2aX

(4) TERA

et & & @-41 %A 99 ST
(Mn,Cr,Cl) @& S 9 & &
TEl 950 HY B YRR HAT 8 ?

(1) MnO;,CrO> ,ClO;,CrO;
(2) ClO;,CrO%, MnO;,CrO;
(3) Cro;,ClO;,CrO% , MnO;
(4) Cro*,MnO;,CrO;,ClO;



6. Which of the following is an oxide

ore ?

(1) Calcite
(2) Zincite
(3) Magnesite

(4) Calamine

. Which of the following statements

are incorrect regarding

Mandleev's periodic table ?

(a) Mandleev

compounds formed by element

considered

with oxygen and hydrogen.
(b) In the table Ni is placed before
Co.

(¢) Eka-silicon in  Mandleev's

periodic table is gallium.

(d) The properties of elements are
the periodic function of their

atomic masses.
(1) Only (b)
(2) Only (c)
(3) Both (b) & (c)

(4) Both (a) & (d)
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(1) FeEe
(2) foramEe
(3) AHHREE
(4) HAHEA

. Heedlg & SEd el & e H A

o T Fo=i § -9 FH G
g7

(a) Bvsdlld 4 Tl & eEgNH g
Ao | s9 AR W &N
Piad 6|

(b) AT H Ni ® Co ¥ Ued @l
™R

) emad @ ¥ Afemm #@
UehT-Ffere e T |

(d) T & o7 g9 I U] 9R &
A AT BN 2 |

(1) e (b)
(2) F79 (c)
3) (b) &X (c) 3
(4) (a) X (@) &

P.T.O.



8. Consider the two

statements
below one labelled as Assertion (A)
and other as Reason (R). Examine
these two statements carefully and
decide if Assertion (A) and Reason
(R) individually true and if so (R)
1s a correct explanation of (A)
select your answer using the code

below :

Assertion (A) Magnesium

imparts characteristic colour to

the flame.

Reason (R) : Due to small size
and high effective nuclear charge

ionization enthalpy of magnesium

is high.

(1) Both A & R are true and Ris a

correct explanation of A.

(2) Both A & R are true but R is

not correct explanation of A.

(3) Ais true R is false.

(4) A is false R is true.
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9. Incorrect statement in regard to

10.

halogens is —

HI > HBr > HCl > HF

(1) Chlorine

electron affinity in the group.

has the highest

(2) Ionization energies of halogen

are very low.

(3) Except fluorine they show an

oxidation sate of —1 or +1.

(4) Acidic strength of hydrogen

halides decrease in the order.

Reaction with sodium hydrogen

carbonate can be used to

distinguish between -

(1) Ethanoic acid & Methanoic

acid

(2) Ethanol and Methanol

(3) Ethanol and Ethanoic acid

(4) Ethylacetate and Ethanol
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9. 2ANM & 999 § Tad AT B -

10.

HI>HBr > HCI > HF

(1) FE ® Fodg §gar a1 H
qga e B 2|

(2) TWISH & AETA TNl qgd FH

B B |

(3) TN & SAfAread &t —1 oferar
+1 STfERARTOT STawen Tefiid &id
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(4) BB BARSE HI TR e
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11.

12.

Rekha dropped a metal piece A in
the solution of another metal B.
After some time a new colourless
i1s formed. A,B,C

respectively can be -

compound C

(1) Cu, ZnSO4,CuSO4
(2) Mg, NaCl, MgCls
(8) Mg, CuSOy4, MgSO4

(4) Fe, ZnSO4, FeSO4

IUPAC
compound will be:

H H

NZ
|

Name of following

(1) 3-Methylene hexane

(2) 2-Propyle-1-butene

(3) 4-Ethyl-4-pentene

(4) 2-Ethyl-1-pentene
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11.

12.

W ATE NG A D TE BT
0 o & faaT B H Sl g®
TIg 9% Uh TR A C H SE
A 81 A,B,C A B -

(1) Cu, ZnSO4,CuS0O4

(2) Mg, NaCl, MgCls

(3) Mg, CuSO4, MgSO4

(4) Fe, ZnSO4, FeSO,

for=1 A6 F TUPAC AT 21T -

H H

N
CHS—CHZ—M—CHZ—CHZ—CH?)
(1) 3-Hremde 2
(2) 2-TEe-1-gH
(3) 4-TAEA-4-Uv<

(4) 2-3IEA-1-UN



13.

14.

15.

In balanced chemical equation
a Cu+ b HNOs (dil) —
¢ Cu (NOs3)2 + d H20 + e NO

Which of the following alternative
are correct ?

(1) a=1 b=4 c=1 d=2 e=2
(2) a=3 b=4 ¢=3 d=1 e=1
3) a=1 b=4 c=1 d=4 e=2
(4) a=3 b=8 ¢=3 d=4 e=2

Which of the following does not
relate to the Non Cooperation
Movement (1919) in India ?

(1)
@)

Renouncement of titles.

To quit govt. schools and

colleges by the students.
3)
(4)

Disobeying govt. laws.

Boycott of judicial courts by
advocates.

What does the novel 'Sevasadan'
by Munshi
relate to ?

Premchand mainly

(1) Attrocities under colonial rule.

(2) Social like child

marriage and dowry.

problems

(3) Life of an orphan.

(4) Misries of a poor peasant.
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13.

14.

15.

Hferd TAEE qHHT |

a Cu + b HNO; (dil) —

¢ Cu (NO3)z + d H20 + e NO
Fr=1 4 & @1 fose @@l & ?

c=1 d=2 e=2
c=3 d=1 e=1

(1) a=1 b=4
(2) a=3 b=4
(3) a=1 b=4
(4) a=3 b=8

c=1 d=4 e=2
c=3 d=4 e=2

frfigg § 9 fhoen ddg 9Rg |
1919 & 3TN ST § 7&f o ?

(1) SUTE & 9REwT |

@) fEE s wEl e 4
eIl bl IR |

(3) TLHRI BT bl A |
(4) TP R A F TR |

gl UmEE w9 Qarde

Jerey 4§ fRed de6d § 7

(1) AdFERE mET J g8 ek |

(2) -G wd TS Sl AT
e |

(3) T FY FH S |
(4) Th TS A & 59|

P.T.O.



16.

17.

Which the following statements
regarding Liberal
19th

are correct

Nationalism in century

Europe ?

(I) Right of Liberty and Equality .
(IT) Formation of people's govt.
(IIT)Ownership of private property.

(IV)Complete Control of govt. on

all  public and  private
property.

(1) L IL, III (2) IV, II1, 1

3 UL Iv,II1 @ LILIV

Which of the following statements
are correct on Gandhiji's breaking
the salt Civil

Disobedience Movements ?

law to start

(I) Salt was the need of rich and

poor all.

(II) British Govt. levied tax on the

salt.

(II1)Only  govt. were

allowed to make salt.

(IV)Lord Irwin abolished tax on

salt.

agencies

(1) L II, II1 (2) 11, I11, IV

3) I, IV, I 4) L III, IV
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1981 9AmeE] & U9 § FER oA
ded 7 -9 FF 7al e !

() T Td Sl H AT |
(II) AR & FLHR F TS |
AIDFST Ui 0 Hiiereb 8% |

AV)S T Este G ) AN
U FATB |

1) LILIT (2 IV, TIL T

(3) ML IV, I (4) I, 11,1V

frafafed & @ #9-9 FA9 TR

M ERr AfoME SrEEm STl @

JOAT THH BT ASH B B

Hay 7 gt e ?

d) T9% F SHRI T Thei GHl H
LG ol |

I1) fofeqr OXR 3 9% T HL AW
BRI

AIDTHE s W B ATER  HAd
RECARURSEOIETRCI O

AV)TE e\ § T9% 9 HY & &
o

(1) I, II, 111

(3) IIL IV, I

(2) TI, 111, IV
(4) I, TI1, TV



18. Which of the following statements
are correct in relation to the great
depression of 1929 in India ? It led

to—
(I) Decline in trade
(IT) Steep hike in wheat prices.

(IIT) Growth in industrial

Investment.
(IV)Fall in jute prices.
1) IL IO, IV (2) L I1, 111
3) LII, 1V 4) LI, IV

Direction : (Q. No. 19 to 22)

Read the statements and select the
correct answer from the options given

below.

(1) Statement I is true,
Statement II is false.

(2) Statement I is false
Statement II is true.

(3) Both Statements are true and
statement II provides explanation to

statement 1.

(4) Both Statements are true but
statement II does not provide

explanation of statement I.
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18. 9T H & 1929 % HeMw=l
4 FF-9 HIT 78 E 7

5 TROTHEEY gu-

I) =R § fREe |

(I0) 7 % M § T 3o |
(D)3t e § Ferd |
AV)IE % &M § fRmEe

A

* dayg

Q) ILILIV (2 1,11, I11

@) LIULIV (4 LI, 1V

fa@er : (Jo Ho 19 | 22)

J= U MU oweNl @& ufey &)
fohedt § @ TE I H T I |

(1) & 1 981 &,

Fo 11 Tad 2

(2) & 1 T g,
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ez T

(3) a9t F TE 2, FAT I HF I H

AT HT 2 |

(4) 3F FoT T E, Wy FAA 11
%I e Tel wa |

P 1
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19.

20.

21.

Statement I : Long years of war
and the cost of extravagant court
of the king drained the financial

resources of France.

Statement II : Only the members
of the third estate had to pay taxes
to the state.

Statement I : Russia's army lost
badly in Germany and Austria in
1914-1916. All able bodied men

were called to the war which led to

scarcity of bread.

Statement II : Tsarist autocracy

collapsed in 1917.

Statement 1 Railways were
essential for colonial trade and for

the movement of Imperial troops.

Statement II : The forests around
the railway tracks fast started

disappearing .
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19.

20.

21.

HUT I : &9 999 9 = W© IS 4
T & &R & el Tl & HRO
WH H A Hae T &
HT 11 : dad Jad a1 & gl &l
Y 1 HT ST B AT |

HOT I : 1914-1916 § &F & A
B OSHA T RgA H A WY
foeil | R w0 & g |l gEni
B gE H gl fod T REw B
T FH FH D TR G 8l R |

Fq9 11 : &7 1917 # SReME &

3T e |

HI9 1 : URRE @R ug 9l
A & g A F f 3
& BFT SAETE o |

HT II : -Uea & o9-Ud &
g S 2l fager B @ |



(13) A

22. Statement I : Simon commission 22, YT I : 9RG & 99 ToWlad &al
d by all th litical
was opposed by all the poltica ZRT AEAA-FHI9E P R R
parties in India.
Statement II : Lord Irwin Fo L - e 2 R FH
announced inclusion of 80% Indian 4 80% WA HE™i & MHE 6T
members into the Simon 3 & B &
Commission.
23. Arrange the following historical 23. MHfaRad Ufeles gedisll @l
developments in a chronological HICTRATIAT Fd Y -
sequence -
(I) Unification of Germany. () ST B THIH |
(IT) Unification of Italy. (IT) T BT THIHIT |
(II1)The French Revolution. (I1I) el I |
(IV)Treaty of Vienna. AV)aTT F G|
(1) L II, II1, IV (1) L II, III, IV
@) II1IV,II, 1 2 II1IV,II, 1
3) II, IV, II1, I 3) II, IV, III, I
4) IV, I, 111, 11 4) IV, 1, 111, 11
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24.

25.

Arrange the following historical
developments in a chronological

sequence -
(I) Poona Act.

(II) Lahore congress : demand of

'"Purna Swaraj'.

(IIT) Establishment of 'oppressed
class Association' by Sh. B. R.
Ambedkar.

(IV)Second round table conference.
(1) LILIIIV (2 I IV, III

3) IL LIV, I 4) IV, 1L 1III, I

What does Mahatma Gandhiji's
popular image in short dhoti and a
spinning wheel depicts ?

(1) Self

to use of British mill made

cloth.

relience and resistance

(2) Easy and convenient way of
living.
(3) Living like a poor farmer in

India.

(4) Depiction of an indigenous

image.
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25.

PHITHATAR R HY -

@) YT FHAT |

(II) AER SR« g & &
T |

IID) & &, oM. Sfdgax I ‘Id
T THIRIUS &l T |

AIV)ZE e qHe |
(1) LILIIL IV (2) IIL IV, 11, 1

3 ILIIL IV, I 4) IV, 1L 111, 1

TR T # OB A T wWE &
a1 B, FT AT S 7

(1) ARG Td fofesr @ & s
FIS H G |

(2) EM Td GRS Stae i |

(3) 9Rd & 9 M & A @

(4) TR BT & T |



26.

27.

28.

Certain minerals may occur as
alluvial deposits in sands of valley
floors and the base of hills. By

which name these are known ?

(1) Placer deposits
(2) Manganese nodules
(3) Bromine

(4) Malleable

Other than current fallow land is

known as -

(1)

Left without -cultivation for

one or less than one

agricultural year.
(2) Left uncultivated for the past

1 to 5 agricultural year.

Area sown more than once in

3)

an agricultural year.

(4) None of the above.

Which one of the following are not
fed
structures that allowed the water

to stand ?

used into rain storage

(1) Khadins (2) Johads

(3) Pit (4) Palar Pani
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26.

217.

28.

A

Teledl & SR ddl "Iel a9 & d
4 oclle & @0 § HB @S e S
g1 3% g W § I N & 7

(1) <EX M&g
(2) T TR
(3) S

(4) rdaed

QR IR G H ST S © -

(1) & @ FN af I 3HQ 9 T
q @ 9 @ el

2 & 19 5 FW af F Sl T B
LERE

(3 T PN W H TH ¥ HF O
ST T & B |

(4) ST & F BE T
forefefaa & @ S9-91 a9 o ThE
w1 P o g 78 e S ?

(2) e
(4) IR 9

(1) &N
(3) g

P.T.O.



A (16)

29. These are species whose 29. I e o9 g ge W %, B2l
population has declined are know Feard & 7
as:
(1) Vulnerable species (1) gﬁa SfeEr
(2) Endangered species (2) Hpeued St
(3) Extinct species (3) g« Siferat
(4) None of the above (4) SRFd § | Hg &
30. To which one of the following 30. W N Ty GG H o 9
types of vegetation does rubber TR & T q 7 7

belongs to ?

(1) Tundra (1) gﬁT
(2) Himalayan (2) feare™
(3) Mangrove Forests 3) e o=
(4) Tropical Evergreen Forests (4) IwTHeddT aui av
31. In which of the following state is 31. A9 99 Hed M WG & HH-9
the Manas Bio-reserve located ? T H Req § 7
(1) Punjab (1) GoTe
(2) Assam (2) T9H
(3) Kerala (3) &
(4) Orisa (4) g
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32.

33.

34.

The

results

of the
building up of

movement plates
in the
stresses within the plates and the

continental rocks leading to -

(2) Weathering
(4) All above

(1) Erosion

(3) Folding

given to the
periodic development of a warm
ocean current along the coast of
Peru as a temporary replacement
of the cold Peruvian current ?

(1) Kaal Baisakhi
(2) El Nino

(3) Monsoon

(4) None of the above

Which name 1is

Which the
statement is not true ?

one of following

(1) Coal that has been burried

deep and  subjected to

increases temperatures  1is

bituminous coal.

(2) Large reserves of natural gas
have been discovered in the

krishana Godavri basin.

The monazite sands of Tamil

3)

Nadu 1is also rich in Thorium.

Photovoltaic
converts sunlight directly into

(4) technology

electricity.
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32.

33.

34.

A

IW H R Rug mwerdd daf  d
T IO Bl 2| Th IROTHEEy
1 - fpamd & ® 7

(1) S (2) YT

(3) I (4) ST Al

IS UE A O b WM W SRARE
W™ A G H A o
9 fe=r @ 2 ?

(1) FIT JarE

(2) T

(3) HAMYA
(4) ITNFT § § H5 TEl

frefafad & @ d9-a1 HI9 Te 78
g7

(1) e § a9 X oIt aome |
qAGT A B ST B
el S B

(2) FEM-TEEY & AT § il
M % faena 9veR @ T 7|

(3) A H e Al HiroEe
W H AfEg & 9En 9 SR R

(4) ®IA dqceEH: HEREL ER g9 R
Y foga 9 uRafig o S 2 |

P.T.O.



35.

36.

In India this primitive form of
cultivation is called by different
names. Select the correct answer
using the code given below -

(1) Madhya Pradesh (1) Pama Dabi or

Koman

(2) Odisa (i) Bewar or Dahiya

(3) In Western Ghats  (ii1)) Jhumming

(4) North-East region  (iv)Kumari
(1) 1-ii, 2-i, 3-iv, 4-iii
(2) 1, 2-ii, 3-iii, 4-iv
(3) 1-ii, 2-iii, 3-iv, 4
(4) 1-iii, 2-ii, 8-, 4-iv

The following waterways have

been declared as the National
waterways by the Govt. Select the
correct answer using the code
given below -

(1) Allahabad and
Haldia

(1) National
Waterways No.-3

(2) Kottapuram-Kollam (i1)) N. W. No.-4

(3) Kakinada-
Puducherry stretch

(iii) N. W. No.-2

of canals

(4) Sadiya and Dhubri

waterways

(iv)N. W. No.-1

(1) 1-iv, 2-i, 3ii, 4-iii
(2) 1, 2-ii, 3-iii, 4-iv
(3) 1-ii, 2-iii, 3-iv, 4
(4) 1-iii, 2-iv, 3-ii, 4-i
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36.

T OoRfie e @ Sl oms
T | A S 21 Ru T ds @
YT A EU #E I B =
HITT -

(1) 787 Y | () 9TTETEr AT
A

(2) ST § (i) Ja A7 e

(3) Ufe=Hl |Te (iii)

@ TR g J@l d (AN

(1) 1-ii, 2-i, 3-iv, 4-iii
(2) 1, 2-ii, 3iii, 4-iv
(3) 1-ii, 2-iii, 3-iv, 4
(4) 1-iii, 2-ii, 3-i, 4-iv

T S @ Rd @ER &R
TSEE a|rt At fmar @ B Ru
T %S P TGN Fd U F& I
T P -

(1) efoear qm sAREE (1) TSF TAHE
qe&-3

(ii) T STTHRT
&4

(3) FIHMST X GGl (iii) T STAwt
TR B B AT G2

() |l 9 gl & qA (1v) TG SR
Ece iSRS LI gE&-1

(1) 1-iv, 2, 3-ii, 4-iii

(2) 1-i, 2-ii, 3iii, 4—iv

(3) 1-ii, 2-iii, 3-iv, 4

(4) 1-iii, 2-iv, 3—ii, 41

(2) PIEYH H FHlewH




(19) A

37. Match the following : 37. I HAW HieT -

The major iron-ore States qRd & e AT g
belts in India Yfeat

(1) Odisa-Jharkhand (i) Karnataka (1) STfesm-REs (i) Fe®
Belt REl

(2) Durg-Bastar- (i1) Goa and 2 @—W—W (i1) T ;T
Chanderpur Belt Maharashtra EE) HeTsg

(3) Ballari (iii) Chattisgarh (3) FEa-Femig, (iii) BETE
Chitradurga [EERUESETS
Chikkamangluru Ud|

Tumakuru Belt

(4) Maharashtra-Goa  (iv)Odisa (4) HERTSZ-TNaT (iv) nfEam
Belt REl

(1) 1-iv, 2-ii, 31, 41 (1) 1-iv, 2-iii, 3-ii, 41

(2) 14, 2-ii, 3-iii, 4-iv (2) 14, 2-ii, 3-iii, 4-iv

(3) 1-ii, 2-iv, 3-iii, 41 (3) 1-ii, 2—iv, 3-iii, 41

(4) 1-4v, 2-iii, 3, 4-ii (4) 1-v, 2-iii, 3+, 4-ii
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38.

39.

40.

Choose in correct statement from

the following -

(1) Election of Indian president is

direct.

(2) Election of the prime-minister

1s direct.

(3) Ministers are appointed by the
President on the advice of

Prime-Minister.

(4) President presides over to

cabinet meeting.

Which of the following is not a
permanent member of security

council ?

(1) Britain (2) U.SA.

(3) China (4) Germany

Indian parliament's consists of -

(1)

President, Vice President and
Rajya Sabha

President, Lok Sabha and

Rajya Sabha

@)

3)
(4)

President and Rajya Sabha

President, Vice President and
Lok Sabha

NTSE(Level-1)(P-IT)Exam. Nov. — 2018

(20)

38.

39.

40.

F=1 5 9 78l Fu g -

(1) R TR & gAE T ¢ |

(2) TEFHE & A T 2 |

(3) W=l W Mg TS s
JES & GdE 9 8l 2 |

(4) TS HEHST B geh P
STETETT HT 2 |

Frer o & geen aive & @R 8o
HIF-AT 39 7T & °

(1) fsred
(3) =

(2) emRe
(4) STEAT

qRAT d9g § e B -
(1) U, SURTSEUI g |

(2) UM, AMH T g [T T

(3) ULl g o9 9
(4) TSEUR, UKl F Wb G



41.

42.

Choose the odd

personalities from the following -

pair  of

(1) Mrs.
Narendra Modi

Indira Gandhi and

(2) Balram Jakhar and Shivraj
Patil

(3) Narendra Modi and Sumitra
Mahajan

(4) Dr. Rajendra Prasad and Dr.
V. V. Giri

Which of the following statement

1s not correct ?

created from

(1)

Telengana 1is

Orissa.

Uttrakhand i1s created from
U. P.

@)

(3) Jharkhand 1is created from
Bihar.
(4) Chattisgarh 1is created from

M. P.
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41.

42.

=t afa & & faww e eife -

(1) Sl SR MR T A

(2) FAUH @S g [¥a7e difed

(3) = HEl g G e

(4) 2. To= g9 g . ararn Fl

frr & @ B9-91 B9 TR TEE 7

(1) T @ Ted ISl § A
T

(2) ITEE H o Ia-Ued H
fopam AT |

(3) FXEE & o f9er d fhar |

(4) SIS & Tod g U9 O fmar
T |

P.T.O.



A (22)

43. Who presides the Joint session of 43. 99 * H’gEFH STMASH @l ST
Parliament ? P HIT © 7
(1) President (1) i
(2) Vice President (2) UYL
(3) Speaker of Lok Sabha (3) TNHTAT I Te
(4) Prime-Minister (4) JEFEAT

44. Which of the following is not a 44, T ¥ § B9 oGS & T8 8 7
Political Party ?

(1) INC (1) oTE.u9.491.
(2) BJP (2) .59
(3) AAP (3) 3 (AAP)
(4) RSS (4) MX.UH.TH.
45. Which of the following is not a 45. =1 & Q@ d9-91 fAwF Siet © 7

correct match ?

(1) U Thant - Burma (1) g 9r< - g|

(2) Kofi Annan - Ghana (2) FIH =T - =

(3) Boutros Boutros Ghali - Iran (3) gaxd gaxd gl - 3
(4) Kurt Waldheim — Austria 4) oﬁ diceerzy - e
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46.

47.

An industrialist Mr. Bajaj has
made an investment of Rs. 10 lacs
on education, Rs. 10 lacs on
training and Rs. 5 lacs on medical
of his

company. His efforts are towards

care of the employees

strengthening to -

(1) Working capital

(2) Human capital

(3) Fixed capital

(4) Capital growth

If a farmer's cost of production to
produce one quintal of wheat is
Rs. 1800, then Govt. of India has
adopted a principle to have at
least MSP as below -

(1) Rs. 2700

(2) Rs. 1800

(3) Rs. 3600

(4) Rs. 2000
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46. UH @M fHo

47.

A

g A STl
FOE & FHAME IR e § 10 a
T, UiEer § 10 d" s9Y adn
fafpet d@9a § 5 @@ v9 &
e 2| S T8 gaAE worgd B
P IR FaH © -

(1) FHE Il
(2) oG Goft
(3) T Sl

(4) GStrTa farepre

I RN @l U e B T
P I ST AR 1800 Fo Il 8
9 qRd WHR A FH q FH FAH
que g e & REr & A
g, S R -

(1) 2700 BT

(2) 1800 BT

(3) 3600 BT

(4) 2000 BT

P.T.O.



48. Assume, there are three families

lives in a village. In family of Mr.
Ramlal Elder son Mr. Anil work
on their fields and younger son
Mr. Sunil is lawyer in district
court. In family of Mr. Shayamlal-
only son Mr. Dinesh work in a
nearby factory of making spare
parts of motorcycle as an engineer.
In family of Mr. Mohanlal-has two
daughters-Elder

Monika 1s a

insurance agent and yonger
Seema runs her internet cafe.
Thus, what is the ratio of economic
sectors in which people of this

village are engaged.

(1) Primary-20%, Secondary-60%,
Tertiary-20%

(2) Primary-60%, Secondary-20%,
Tertiary-20%

(3) Primary-20%, Secondary-20%,
Tertiary-60%

(4) Primary-20%, Secondary-20%,
Tertiary-40%
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48. 9N oW TF Mg § 9 URaR &

21 oA A d oEr § &g der
AT o Bal # P YA & a
BT d Gl oIl ofEred § gl
2l A Fmad ® uRar ¥ dad %
JeT B S U & HieY dnfed & I
qed #H faed AR FSEY @M
FXA B o U & IRaR @
afet &1 9t 38 D 1 e @
FHH B & TN BT I G Fee
% TART & 39 YHN 39 MG B A
1 fal= ot aefi § F U
3

(1) ITIHH-20%, TEda®-60%,
FEH-20%

(2) WAHH-60%, TEaa-20%,
JAE-20%

(3) UTAHH-20%, TEda®-20%,
JAE-60%

(4) TTAHH-20%, TEda®-20%,

FEH-40%



49. XYZ Bank has

50.

Rs.10000 crores
public deposits and interested to
utilize 7500 crores of its funds. In
your opinon, which of the following
activity do you find more better

option for bank -

(1) by
branches

renovating all existing

(2) by deposit it to central bank

(3) by
branches

opening many new

(4) by extending loans

Following are some activities -

(A) Giving seeds and fertilizers
subsidy to the farmers

(B) Cultivating wheat
(C) Making atta from wheat

(D) Providing storage facility for
the wheat

Out of the

activity/activities

which

relates to

above,

primary sector -
(1) A,B,D

(2 A, B

3) B

(4) B,D
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A

49. XYZ 3% % 9@ 10000 HIS Fo &

50.

ST T e 20 S% zEE 9
7500 HUE Ho FH ITART HIAT Aredl
gl ood fer ¥, = o8 e
Tiefafer S & fore Jeaw @ ?

(1) Tt g gaHe
FAHHT B H

qEETST

(2) P59 3% ° 3§ T D
(3) W84 ANl 3 @l @i §

(4) F1 G)gd & |

Fr=feea o wfafare= & -

A) fFEEl # A R mE W
STE &

(B) g & @l A

(C) & | ST TR AT

D) I T & fm Mem & gl
Yo HEA

SWad # H=-dr wfafafey AfatafeEr
T & § TRy Tl §

1) A, B,D
@) A, B
3) B

(4) B,D

P.T.O.



A

51.

52.

Income alone is not a completely
adequate indicator of development
of a country. Which one of the
following statement is incorrect
in this regard ?

(1) Money cannot ensure a
pollution free environment for
individual.

@)

Some people earn more than
others do.

(3) Money does ensure respect
and dignity for individuals.

(4) Money helps us buy material
goods and services only.

Match ColumnlI with the

statement of Column IT -

Column I Column II

A. Right to | i
inform

When I buy an electric
iron and suffered electric
shock while using it

B. Right to | ii
Choose

When 1 parceled a packet
from post office but not
delivered yet

C. Right to | iii
Safety

When I buy a shirt from
company outlet,
instructions for washing it
was tagged on it

D. Right to | iv.
seek
redressal

When I have taken a gas
connection, dealer insisted
me to buy stove from
them with the connection
but I denied

(1) A-i, B-ii, C-iii, D-iv
(2) A-ii, B-iv, C-i, D-iii
(3) A-iv, B-iii, C-ii, D
(4) A-iii, B-iv, C-i, D-ii
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52.

frdl aa & fepm &1 gl Wi
Hohdh dac AF & e & | 3 HE
ﬁﬁwaﬁaﬂ‘rﬁﬁﬁ?wwaﬁ

(1) & @ % [N gFeRe g
qTeReT GIYer Tef H Hebell |

(2) HB T AT FH YT H e
FAT Thd 2 |

(3 ™ am F U AW-gEE
gt 3 & |

(4) & Faq s aegell AR Farad
F Gle § Herd R 2|

ofed I & dfaq II & & 9 e
FITT -

Pfad I PieH 11
A gET H i os@ W owm R @
CIBEIry AEE TS e mEm
FH B ARA faen @
EEealcull
B. 909 | i 99 ¥ THEN ¥ UH
CIBEAS qed Rretarn AfeT s
% fefeed &t &
C. gl & | iii. 9 Y FOA oM d
CIBEarg TF FHEHE GUE M W)
T 99 gad Ry @
™
D. RmEd | iv. 99 B9 U T H HR
U™ @ o @ S} ° 3% 91y
CIREIy 0% Wd GiEd 3 o
T AfeT 9 A
T &

(1) A-i, B-ii, C-iii, D-iv
(2) A-ii, B-iv, C-i, D-iii
(3) A-iv, B-iii, C-ii, D
(4) A-iii, B-iv, C-i, D-ii



53. There are a variety of ways in

54.

which the MNCs are spreading
their production and interacting
with local producers in wvarious

countries across the world.

Whaich one is not feasible ?

(1) By setting up partnership with
local companies

(2) By using the local companies

for supplies

(3) By

trade of local companies

(4) By
local

them

imposing restriction on

closely competing with

companies or buying

In A ABC, ZABC = 90° and

Z/BAC = 60°. If bisector of ZBAC
meets BC at D, Then BD : DC is -

(1) 1:2
2 1: 43
3) 1: V2

4) 1:1
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A

53. U 9gd @R d0% ¥ RFQ g% U

54.

FHET (MNCs) 31T 3 [l
9§ Bonal ® R g8l W g
SRS F Y T T99 @l B |
T § HH-91 999 787§ ?

(1) ¥MT A & A qREn
AR

(2) AT B Il & U T B
F TANT B

(3) WM HUME & FAUR W
BINCEI IR CIC T

(4) TME HHEEE & T ToEh
gferaet #3138 @HIE HC

AABC #® ZABC=90° &R
ZBAC=60° ®| I «BAC @&
THiEge®: BC & D W fawmn 2, A
BD:DC 8 -

(1) 1:2
2 1: 43
(3) 1: V2

4 1:1

P.T.O.



55.

56.

517.

a and b are roots of the quadratic
equation x2+ 5x + d = 0 and a and
of the quadratic

equation x2+ 6x + 2d = 0. If there

¢ are roots
1s only one common root of the
above two equations, then the

possible value of d is -

(1) 2 2) -2

3) 4 (4) —4

Sum of the lengths of all edges of a
cube is x metres. If the surface
area of the cube is x sq.metres,
then its volume (in cubic metres)
18 -

(1) «8 (2) 8

(3) «x (4) 2

ABC is a right angled triangle,
right angled at ZB. If side AB is
divided into three equal parts by
points D and E such that D is

nearer to A, than

AC? - EC?

m iS equal to -
(1) 3 @) 2%
2
1
® 2+ ) 2
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55.

56.

57.

a 3R b fEa THET a2+ 5 +d = 0
% g ¢ a9 a AR c fEEm aHmer
2+ 6xr +2d=07% Yd el A
SRS M HHIBOT B dad TF &
IS YA 2, @ d F GEIad AW
S

(1) 2 2) -2

(3) 4 (4) —4

fpel a9 & |l ARl @l @l
AN x A T OAR F A @ IO
B%A x 99 Hiel B, O IHE oI
(5 et #) ® -

(1) «8 (2) 8

(3 x (4) 2

ABC U% #9& B9 8, Res £B
HHT B AR g1 AB # fig D
AR E OF R AF H 39 9ER
faifia #3d € 76 D fig A & ot
Frepe 2,
AC? - EC*

2 7 N (% -
DC? -BC
1
(1) 3 (2) 25
1
3) ZZ 4) 2



58.

59.

60.

There are 15APs whose common
differences are 1, 2, 3, ......, 15
respectively, the first term of each
being 1. Then sum of their 15th

terms 1s -

(1) 1695 (2) 1792

(3) 1800 (4) 1924

ABC 1is in  which
AB = 10cm, AC =24cm and

BC =26cem. If AD is its median,
then length of AD is -

a triangle

(1) 12cm (2) 12.5cm

3) 13cm (4) 14.75 cm

The

number

decimal expansion of the
14588 .
will -

terminate after two decimal

(1)

places

terminate after three decimal

@)

places

terminate after four decimal

3)

place

not terminate

(4)
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58.

59.

60.

A

15APs ?, o9& 9d S @Hen
1,2,3,..,15 & 399 ¥ U% & UM
T 1 B dd, 3% 153 Tf & AN
S

(1) 1695 (2) 1792

(3) 1800 (4) 1924

ABC w% Bige &, f5ad AB = 10 &),
AC = 24 9 3R BC = 26 & 2|

e AD SH® Hiftgw 2 @ AD @
TR 2 -

(1) 12 g4 (2) 12.5 a0

(3) 13 g4t (4) 14.75 I
14588 1 qorerd T -
8750

(1) T I TE & % 3fd enm |

(2) T 9FAd ¥ % 98 3{d B |

(3) I TG Wl & 8 3T BFM |

(4) iF FEl Brm|

P.T.O.



61.

62.

63.

All the zeroes of the polynomial
x3+ 2x2 + a are also zeroes of the
polynomial x5— x*— 4x3+ 3x2+ 3x + b

Then, the values of a and b are

respectively -
(1) —1and 2 (2) -1 and -2
(3) 1and -2 (4) 1and 2

Present age of a father is six times
his son's age. After four years, the
age of the father will be four times
his son's age. The present ages (in
years) of the father and son are

respectively -
(1) 24 and 4
(2) 30 and 5
(3) 36 and 6
(4) 28 and 7
The largest number which divides

72 and 127 leaving remainders 7

and 10 respectively is -
(1) 845 (2) 458

(3) 65 (4) 13
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61.

62.

63.

UG x3+ 202+ a & GH I |
X — xt— 4x3+ 3a2+ 3x + b B Al

I &1 T a AX b & HAA FHAW
3

(1) -1 3T 2
(3) 1 X -2

2) -1 AR -2
(4) 1 X 2

uh U H oaeHE g S P A
Y H 6 YA &l TR AW F &,

H Y YF B g B 4 TR
@ T R G @ g oy
(st &) maT: € -

(1) 24 3T 4
(2) 3035
(3) 363X 6
(4) 28 A7
Ie gad 91 ge frea 72 ¢ 127

F oA B W AR HET: 7

3 10 o4 %, B -
(1) 845 (2) 458

(3) 65 (4) 13



64.

65.

66.

The line segment joining the
points A(2, —2) and B(-7, 4) is
trisected at the points P and Q (P
1s nearer to A). If coordinates of P
(a,0) and (-4, b)

respectively, then the wvalues of

and Q are

a and b are respectively -
(1) 1and 2

(2) —1and 2

(3) 1and -2

(4) -1 and -2

cosO —sinB +1

- 1s equal to -
cosB +sinf -1

(1) secb + tan®
(2) secO —tan6

(3) cosecO — cotO

(4) cosecO + cotd

From the top of a 60 m high tower,
the angles of depression of the top
and bottom of pillar are 30° and
60° respectively. Then the height

of the pillar is -
(1) 20 m (2) 20/3m

(3) 40 m (4) 403 m
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64.

65.

66.

A

figelf A@, —2) @R B(-7, 4 &
e a Y@rEs &) g PR Q
ARG &30 & (P g A & o
Fee 8)1 ot P ok Q & Feui®

U (a, o) AR (-4, b) %, a a
MM b & FHW 9 & -

(1) 1312

(2) -1 32

(3) 13M¥-2

(4) -1 3 -2

cosO —sinO +1 T Y -

cosO+sinb -1

(1) secb + tan0
(2) secb —tan6
(3) cosecO — cotO

(4) cosecO + cotO

60 Hlo T THh HR & RREY F
oY & 99 Y Fead Y & sraHe
FHIT HHM: 30° AT 60° 2| T, WA

% HAR © -

(1) 20 Hio (2) 2043 Hio
(3) 40 Hio (4) 4043 Hio
P.T.O.



67.

68.

The diagonals of a quadrilateral
ABCD are perpendicular to each
other. Then the quadrilateral
formed by joining the mid-points

of its sides (in order) is a -
(1) kite

(2) rectangle

(3) rhombus

(4) square

In figure, PQ is a chord of a circle
with centre O and PT is

tangent at P. If ZQPT = 60°, then
ZPRQ is -

its

Q
O. R
P T
(1) 105°
(2) 115°
(3) 120°
(4) 130°
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67.

68.

fRdl =Iggst ABCD & el TR
a9 B1 d9, S GgYT B e &
ne-fagetl & (9 9) Feae 9 S
e A & T -

(1) 94

(2) emada

(3) AHATHA
4) =i

IMET H, PQ % O a Jd &
ST & @1 fdg P W PT I&#H &
wef @ 71 3k ZQPT = 60° B, &t
Z/PRQ ? -

Q
O. R
P T
(1) 105°
@) 115°
(3) 120°
4) 130°



69. A momento is made as shown in

70.

the figure. Its base PBCQ is silver
plated from the front side.

I
Y il

plated

The silver area 1s

e
userT=—/| -
7

(1) 11 cm?
(2) 11.5cm?2
(3) 12.5 cm?
(4) 13 cm?

A bucket is in the form of a
frustum of a cone and it can holds
28.49 litres of water. The radii of
the top and bottom of the bucket
are 28 cm and 21 cm respectively.

Then slant height of the bucket is -
=)
use 7 =—
7
(1) 15cm
(2) V246 cm
(3) Y253 cm
(4) V274 cm
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A

69. AT H TT ATHR T HHA S0

70.

T 2| 39% MR PBCQ W & &l
AR A T FAL BTG TR D

Q

g

TqE P FAE A 9T R AT D
22

[;;:7@11%@-

(1) 11 941

(2) 11.5 qH2

(3) 12.5 9H?

(4) 13 9412

U dccl 9 F TH B B AR

H T AT 3EH 28.49 e Gl ST

Thar 2 39 dd & U oY frea

fodt @ Broume s 28 W &R

21 9491 ¥ 99 3@ dcdl & f9uw

SR ¥ -

[zzgwwj

(1) 1534

(2) 246 A

(3) 253 Q4

(4) 274

P.T.O.



71.

72.

Two dice are thrown at the same
time. The probability that, the
sum of two numbers appearing on
the top of the dice is greater than

6 but less than 9, is -

11

1) 26

@)

L |-

3)

o | o

(4)

RN

A person can row a boat at 10 km/h
in still water. He takes two and
half hours to row from A to B and
back. If the distance between A
and B is 12 km, then the speed of

the stream is -

(1) 3 km/h
@) 2% km/h
(3) 2 km/h

@) 1% km/h
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71.

72.

A Al B TH AT BT ST § | A
Ta F ST %aw WM al
Heal & A 6 A FAUE W 9 |
FH BN @ W © -

1) 11

@)

w |-

3)

o | ot

(4)

RN

U ik S Sl H 10 fbHI/E &l =t
A E @ @M 21 a8 A9 B T I
ﬁ@TﬁT{WGTﬁﬁ2é g
a9 A g1 AR A AR B & 99 #
g 12 fFf 8, & O @l = © -

(1) 3 frdirE
@) 2% Eoafe)
(3) 2 T

(4) 1% /et
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73. In the figure, points P, Q, R and S 73. GTIEE% G| fgl'g' P, Q R AT S TH EN
lie on a circle. Then the values of W fog 1 99 x ol y & AN YT
x and y are respectively - g -
(1) 40° and 100° (1) 40° 3T 100°
(2) 35°and 110° (2) 35° 3 110°
(3) 50° and 80° (3) 50° 3T¥ 80°
(4) 30° and 120° (4) 30° 3T 120°
74. Difference between systolic and 74. Ef® 9 SRS @ S99 b
diastolic blood pressure is known 3TIX & FHeT I © -
as —
(1) blood pressure (1) & 919
(2) cardiac output (2) &ga¥ 33yc
(3) pulse pressure (3) Jod &4 g
(4) heart beat (4) BT Waq
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75. About what percentage of living 75. T fRan ufged Sifad uewieEr
species are in danger of extinction ? ﬁl—g‘ﬁ BN P HIN W E ?
(1) 20% (1) 20%
(2) 10% (2) 10%
(3) 30% (3) 30%
4) 1% 4) 1%
76. Entry of water into roothairs is an 76. W g gt @ way = @
example of - JEEAT T -
(1) Diffusion (1) fewgom
(2) Imbibition (2) TEEIH
(3) Osmosis (3) SfEitad
(4) Plasmolysis (4) RIS
77. Tendons & ligaments are types of 77. I wd fomde M UBR & Sd®
tissue - g -
(1) muscular tissue (1) 9T Has
(2) epithelial tissue (2) HEAERON Incleh
(3) nervous tissue (3) TR S
(4) fibrous tissue (4) B39 s
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78. The organ which spider use to 78. @ AT N B AHS! WA T
prepare web 1is - TR B B -
(1) Spinnerates (1) Wl'sfﬂi?_:{:[
(2) Spicules 2) W
(3) Spiracles (3) TELHH
(4) Carapace (4) FHAIG
79. Variations are important as they 79. faframg IIETC!E(USF g e ¥ WEN
produce - F B -
(1) Adaptations (1) ST
(2) Elimination (2) &1 &
(3) Evolution (3) T
(4) Selection (4) ogq
80. Mode of nutrition in cuscuta is - 80. STREA H WYT o U # ® -
(1) Saprophytic (1) ﬂéﬂtﬁ'ﬁiﬁ
(2) Autotrophic (2) T
(3) Parasitic (3) TS
(4) Insectivorous (4) Fieweqt
81. Structural and functional unit of 81. ﬂ% (kidney) @ @IS g FHIITHE
kidney is - T © -
(1) Nephron  (2) Ureter (1) - (2) WX
(3) Neuron (4) Urethra 3) W (4) ?i(ﬁgﬂ
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82.

83.

84.

Lateral ventricles are found in -

(1) Cerebellum

(2) Cerebral hemisphere

(3) Diencephalon

(4) Medulla oblongata

Cessation of menstrual cycle 1is

called -

(1) Puberty

(2) Menarche

(3) Pregnancy

(4) Menopause

Exchange of gases in human

occurs 1n -

(1) Trachea

(2) Pleura

(3) Bronchi

(4) Alveoli
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82.

83.

84.

qeXd Azl T S E -
(1) aRaem o

(2) AR BHEHET |

(3) SEAwRA |

(4) Hgam Sfedier #

ik =k FHTC B B Fed 8 -

1) g
(2) TR

(3) Bre

(4) ST

el & T e e A -

(1) gfepar

2)

(3) sfE

OV RSIERIKIE



85.

86.

87.

Which of the following disease is

only due to external causes ?

(1) Diabetes

(2) Arthritis

(3) Jaundice

(4) Cataract

High yielding varieties of wheat
were 1nitially developed by an
Indian scientist by cross breeding

the traditional varieties with -
(1) Mexican Varieties

(2) Europian Varieties

(3) American Varieties

(4) African Varieties

ILS-82 and B-77 breeds are of

following -
(1) Cow
(2) Fowl
(3) Pig

(4) Buffalo
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85.

86.

87.

A

e T 1 s L [ 7 M 3
FHON & Bl B 7

(1) wYHE
(2) emEfen
(3) i

(4) M=

IE-g& 7 T H AtE EER
arell ST 1 {9 TR e o
WRR Sod & 68 et & a1
I SITET HUh BT -

(1) Al JoTia

(2) FUMNIA Yt

(3) SRR FeTIfe

(4) STHIERT TSTT

11.S-82 g B-77 /=4 & @ faal
e 2 -
(1) T
@ T

(3) YA
(4) 99
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88.

89.

A dynamometer D is attached to
two masses m; = 3 kg & m,= 5 kg
Forces of f, = 9N & f, = 25N are
applied to the masses as shown :

The dynamometer will read -

—m

558088880 m:— f,

(1) 10N
@) 15N
(3) 14N

(4) 6 N

A packet of weight W was allowed
to fall freely in a water tank with
The

force

acceleration 'a' (<9).

magnitude of resistive

offered by water is -

(1) ws
a

2 wl
g

(3) w(l - EJ
g

(4) w(l + EJ
g
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88.

89.

% ERAHMEY D, & g
m1=3kgﬁﬂTm2=5kg@f\_§I§T%l
9 eI AR 25 eI & A &
FERTaR @ € | SR & qgdi®
S

f—fm

SO08000800 M f,

(1) 10 e
(2) 157
(3) 14 A
(4) 67
W X & ©F Ybe, UMl & % A
WA=gEs @ 'a' (<g) & R

T UM &R @ T A a9
3

(1)

2 w

3)

(
@ of



90. The displacement time graph of a
body in motion is given as below -

Time (s)
‘ 309,

Displacement (m) —®*

Velocity of body is (in m/s) -

1) 3 ) 1/3
1
(3) 3 (4) 5

91. V2-S graph of moving body in
straight line is as shown in figure.
Which one among the following is

not true ?
V2
S
(1) Motion 1s uniformly
accelerated.

(2) Corresponding s-t graph will
be parabola.

(3) Initial velocity of particle is
Zero.

(4) Velocity is time varying.
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91.

%7

q%] & faem-aey I
i 2 -

g 3
4

qHY (s)

e (m)—*
IE] Pl o (m/s H) BT -

1 3 @ 13
3) V3 @) %

Th A% @ H Fedl 9% # VS
(- fereammo) o ot ® wRRT B

TH A AT BT I FET 8 7

V2

S

(1) 7T & U A @R 2 |

(2) T s-t A% TH Waed ¢ |
(3) I%] F ARFHF I A © |
(4) &1, T F T GREd 5 |
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92.

93.

94.

The velocity of sound wave in a

given medium is V when its
frequency is v. The velocity, when

frequency changes to 5v is -

(1) 5V (2) V/5

(3) 25V 4) V

A small block of material having
relative density 1/3 is immersed in
liquid & released. The block starts
with an

moving upwards

acceleration 'a'. The value of 'a' is

(g 1s acceleration due to gravity) -

1 g (2) 2g

(3) 3g (4) 4g

A wooden plank of length 'L' rests
an a frictionless floor. A boy of
mass 'M' now runs over the plank
starting from its one end. If mass
is M/5, the
the

relative to the ground will be -

of wooden plank

distance covered by boy

(1) L/e (2) 5L/6

(3) L/5 (4) 4L/5
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92.

93.

94.

fhel mTegq ¥ ea aem @ | V

T SMghd v & o9 oMmE Av @,
& & = SR -

(1) 5V (2) VI5

(3) 25V 4) V

Uh B oh H fHh T w
e 59 1/3 © & Ed H AT
BIST T Rl 'a’ @O d HU

SN Iaar B 'a' & HE BN
(g ToEE @ B) -

1 g (2) 2g

(3) 3g (4) 4g

L TR H O awel H e, R
gyo Ied |dE W @M B | Uh ad
RR & o1 O #3ar 21 A dwel
& T& N FF9E M/5 &, df 9l &
HIE ST &1 a9 g4 Enl -

(1) L/e (2) 5L/6

(3) L/5 (4) 4L/5
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95. A rod of length '1' and mass 'm' 95. T% Bg NTO# Z99M 'm' Td qEE
fixed at one end, is hanging T B, AN Uh RR @ IEe ded @l
vertically. The other end is now ¥ g{ﬁ RR @ 2o 3@l T
raised so that the rod makes an

% @& &fsr & 30° F HOT TR B |
angle 30° with horizontal line. The 5 o B
work done in this process will be - = Tt T )
(1) mgl
(1) mgl
(2) mgl/2 @) mgl/2
(3) mgl/3 (3) mgl/3
(4) mgl/4 (4) mgl/4

96. Graph shown V-1 Characteristics 96. 39 I ¥ Eli?li%ﬁ, 3® IO g
of two resistance their series T @ @ VI I% &
combination & parallel fagmr T B Uit & 99 ud aw
combination. Identify the P TN FY -
resistances values & graphs -

X, X,
X3 X3
X, X,
I I
X4 X
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97.

Resistance-1 Resistance-2 Series Parallel
(1) X1 X9 X3 Xy
(2) X9 Xg Xy X
(3) X3 Xy b:¢] Xy
(4) Xy X Xq X3

Two plane mirrors P & Q are kept
at ? with respect to each other.
Light falls on P is reflected and
then fall on Q and is reflected. The
emergent ray 1s opposite to

incident ray direction. The ? is

equal to -

(1) 45°

(2) 30°

(3) 60°

(4) 90°
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97.

gfig-1 gfedig-2  99fF @R
GRIEEEKRIEE]
1 x X Xq X,
(2) X9 X3 Xy X
(3)  xj Xy X, X,
4) x4 Xy X9 X3

& FHA aOT P A Q U TR A 7
HT W W § THA B T HOT P
W Ul & 3ad ki B Q W
Tell B R g wEfid A g1 e
fepor amfer feheer @l faodia feem
217 & AN B -

(1) 45°
2) 30°
(3) 60°

(4) 90°



98. The magnetic field intensity (B) at

99.

distance 'r' from a long straight

conductor carrying a steady
current varies with 'r' as shown

in figure -
(1) (2)
| L | [

3) (4)

The graph in figure shown how the
inverse of magnification (1/m)
produced by a thin convex lens

varies with object distance 'u' the

power of lens will be -

1/m

1) ble

(2) bl/ca

(3) bcl/a (4) c/b
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A

98. TF WY gXEREl TEE d v g W

99.

e & &l Al (B) # gl v &
Y GRea T A% ST B -

B \\ B|/
(1) (2)
| k BV

3)

(4)

R 4 welid I% ¥ UF gdd S9d
| & [T o@dsT % gwhd (1/m) #,
q& o 'u' & WY gREde e T
2|

1/m

1) ble

(3) bc/a
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100. In the circuit

shown all the

measuring instruments are ideal.

The reading in ammeter A, will be

10 Q

5v
1Q

WWV

G

A,

10 Q

(1) 1/4A
@) 1A
(3) <1/4A

(4) Zero

100. B 4 wERid 9Ruy 4 @ Ao
SUEHT SRS © | STHEX A, & Iediw
3T -

5v <A
10 1 10 Q

1) 1/4A
@) 1A

(3) <1/4A

(4) A
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5.

10.

11

12.

13.

14.

15.
16.

17.

18.

UH B SR, SR UFe # iR @mEt
df @ige U9 W qUdAr dlell BT E
fegrar mar §

BT Prel/ et
S 6 e

@M BT 9 TR ¥ W) ®

© ® © @
I T W SITST WHI DI MR < & T NMUBT AR ITead
HET ST |

. X% B e gRAaHr W 59 wAie & forg &1 g el

ST TR B BN |

. 9l TR B OMR STR TP WR &) 3fbd B | 9

IR IHGES 3ifhd P | IR I8 B WA oD
(e des) b1 T g B

.6 T 3 fov Ry v aR fieewt § ¥ Sfua

s & forg OMR SR W& W ddd b g
B A W We A/ B dd WEe W A W
T IR SR 3ifhd &7 & 915 S dgal H8l off
HhT B

. et ghRea & & 39 SR wFd @1 Arel 9 Y

T I R P I FRIA A @ e o
I HIe IR e H uiRd W & «faRed o= 7
ford |

e gRABT Td IR UE BT S TANT TN, ifd
fdl Y aRRefT # (Baat aem gRA®T vd IR U536 &
HHis # T @ Refq &1 srear) gl g¥ler gRasr
e Sy 78 Fvarg wrgit

. W gRA®T /IR UAS H Y T HHie DI gl wE

WD 3 BN o H ford |

edt BI WRIET B/ PeT § UAY Bl @ Rara ey
PR B IR, gied a1 sfalRad st &1 afir,
TSR, A3 BIF, Soideli—ed UG AT fFd 3 ThR
B WA BT A S AT YN B DY SIART T 2

TS FRT Y8 O W UGS IRl AT UdRr dre
RreT o) faary |

T JefleTd AT whded @1 fRIY SrgAfd & faAT @I
et U I T BIS |

Soldel e / BETAIeId UREbeld BT SUINT Ifid 2 |

e grad H wdenm gRA®T 3R STR UFH B B AN
AT T BN |

T T B W, e @et /BT Bl ¥ Jd SR

UAP HeT—UdeTs Bl 3aey Wig < | anpgeft e |1 39
e gRA®T BT o T Fhd |

FfF 39 UH-9F & dF R & forg eiRa g Aifa
2, 9ol SH@T AIFHaH FUANT BIG R & e
R 980 I T IR |

10.

11.

12,

13.

14.

15.
16.

17.

18.

. Answers to questions in answer sheet are to be given

by darkening complete circle using Black/Blue ball point
pen as shown below :

O e O o

The answer will be treated wrong, if it is marked, as
given below :

v ® © O

If you fill more than one circle it will be treated as a
wrong answer.

. Rough work should be done only in the space provided

in the Test Booklet for the same.

. The answers are to be recorded on the OMR Answer

Sheet only. Mark your responses carefully. No whitener
(white fluid) is allowed for changing answers.

. Out of the four alternatives for each question, only one

circle for the most appropriate answer is to be darkened
completely with Blue/Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not allowed to
be changed.

. The candidates should ensure that the Answer Sheet is

not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of Test
Booklet will not be provided.

The candidates will write the correct Number as given in
the Test Booklet/ Answer Sheet in the Attendance Sheet.

Candidates are not allowed to carry any textual material,
printed or written, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall /room.

Each candidate must show on demand his/her Admit
Card (Roll No.) to the Invigilator.

No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her seat.

Use of Electronic/Manual Calculator is prohibited.

No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

On completion of the test, the candidate must hand over
the Answer Sheet to the Invigilator in the Room/Hall.
The candidates are allowed to take away this Test
Booklet with them.

Since the time allotted to the three parts of this question-
paper is very limited, you should make the best use of it
by not spending too much time on any question.
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